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Part I Problems 

In the following two problems, find a fundamental matrix of the given system and then 
use it to find the specific solution of the system which satisfies the given initial condition. 

2 1 3
Problem 1: x� = x, x(0) = 

1 2 −2 

Problem 2: x� = 
2 −5

, x(0) = 
0 

4 −2 1 



MIT OpenCourseWare
http://ocw.mit.edu 

18.03SC Differential Equations�� 
Fall 2011 �� 

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms. 

http://ocw.mit.edu
http://ocw.mit.edu/terms



